New Maths GCSE: N14 - Estimating Calculations using
Significant Figures

Correct Answer: ABCD

By rounding each number
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: Correct Answer: ABCD
By rounding each number
to one significant figure, 546 p 4 3_82 EXpIanation:
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Correct Answer: ABCD

By rounding each number
to one significant figure, 2 3 X 570 Exp|anati0n:
which is the correct e

estimation of the 3 82

following calculation:
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Correct Answer: ABCD

By rounding each number

to one significant figure, 6.7 1 2 X 1 5 Explanation:

which is the correct
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following calculation:

6 X 15
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. Correct Answer: ABCD
By rounding each number
to one significant figure, 1 0.8 X 2 3 O EXp|anati0n:

which is the correct

estimation of the 0.7832 | sttt ssns s

following calculation:
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Correct Answer: ABCD

What is a sensible estimation for Explanation:
theanswerto 0.48 x 4.17 [ -
4- 5 8 n 2 0 ..........................................................................
0.2 > I R
TP r—————— Correct Answer: ABCD
In a competition, a prize is won every 3033 seconds. Explanation:

Work out an estimate for how many prizes are won in
each 24 hour period o AT T

Which of the following gives a reasonable estimate of
the number of seconds in a 24 hour period?

“ 60 X 60 u 60 x 60 --------------------------------------------------------------------------
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60 x 20 B 60 x 60 x 20
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Correct Answer: ABCD

Estimate Explanation:

32x18 ..........................................................................

Correct Answer: ABCD

Estimate Explanation:

76 x 61
26
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